1./58

EFETHETRAOR
FRERERAOGIEAZEHZED) {ﬁ\*usfﬁgﬁ 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 302 335 384 719
AER1TH 1,053 1,164 1,283 2,447
mAET2TH 1,193 983 1,338 2,321
A R ET 2,362 2,288 2,596 4,884
BERT1TH 620 589 634 1,223
B ERT2TH 394 382 432 814
B ERI3TH 313 362 312 674
B ERTATH 529 475 502 977
B ERSTH 842 892 874 1,766
I ER6TH 383 392 419 811
HiF = HT 537 563 609 1,172
45 KHT 534 604 627 1,231
HHT 1,003 1,059 1,181 2,240
BEHT 53 54 57 111
A K BT 600 671 701 1,372
7 HT 438 434 447 881
RILHT 460 465 522 987
FORHET 205 184 215 399
RFHT 201 197 228 425
KHET 358 318 365 683
KET1TH 237 236 279 515
XKET3TH 289 326 323 649
XETATH 875 798 977 1,775
fit] LLI BT 2,487 2,746 2,910 5,656
JE LT 983 1,073 1,185 2,258
EHERT2TH 318 449 440 889
EHERISTH 428 528 515 1,043
EHERT4TH 387 460 491 951
EHERSTH 351 398 448 846
EHERT6TH 212 288 276 564
EAERET7TH 168 248 257 505
=Y:i 341 331 359 690
8 [ T 1,660 1,457 1,695 3,152
=i ET 515 538 621 1,159
2l 3t BT 479 561 548 1,109
N =15 101 108 120 228
+HEFRT A 638 631 693 1,324
L EFHTER 847 739 832 1,571
L HAET 1,943 2,074 2,206 4,280
LFH¥ABT1TH 73 117 113 230
LH¥\ET2TH 162 166 181 347




HEZ HH 5 £ i
LH¥AET3T B 156 157 163 320
LF#ET4TH 162 174 197 371
LFEISTH 215 255 292 547
I == HT 197 206 220 426
M=rET1TH 563 542 525 1,067
JNsFET2T H 544 506 562 1,068
JNSFEIST H 429 438 408 846
M=rET4T H 1,059 1,037 1,082 2,119
I S5k T 574 566 643 1,209
I=F5di) 225 209 242 451
Jt B BT 29 34 37 71
E[d:) 406 356 343 699
fHZaE T 833 917 990 1,907
FHRHET 80 76 89 165
1 2 FF T 359 386 414 800
BEFE1TH 95 116 124 240
BEFE2TH 285 308 332 640
T EHT 123 129 131 260
/N BB T 3,132 3,052 3,252 6,304
1R T 270 281 313 594
YEZF HT 771 748 768 1,516
EXBI1TH 273 253 271 524
=/ LLIHT 217 157 129 286
Hh ek HT 25 25 4 29
T A EHET 11 16 12 28
THHEE1TH 729 641 689 1,330
THHEE2TH 533 543 531 1,074
THHEESTH 860 884 1,035 1,919
TEHE1TH 174 175 167 342
TEHRI2TH 806 730 848 1578
TEHRISTH 173 180 190 370
TEHRI4ATH 97 114 119 233
TEHRISTH 210 232 235 467
THAHET 515 528 567 1,095
THET1TH 348 344 355 699
THET2 T H 457 415 468 883
TH¥BISTH 197 186 218 404
THABTATH 163 151 177 328
TH¥BISTH 170 181 203 384
TH¥BI6 TH 142 169 166 335
HAHT 15 13 6 19
ikl 186 197 178 375
#8)11 HT 46 45 51 96
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BT 4 HH 5 £ i

R IHT 294 308 326 634

7B KHT 1,647 1,611 1,752 3,363
FSIED 265 311 297 608
XHILET1TH 818 704 878 1,582
XHILET2TH 321 346 371 717
X#ILET3TH 155 144 164 308
1 [ BT 44 67 72 139
hHET1TH 389 414 413 827
hHET2TH 461 455 510 965
hHBEI3TH 457 493 502 995
niEld:) 254 217 266 483
th 2 JEHT 218 192 221 413
ch T 137 128 166 294
FRAHT 784 851 854 1,705
At FAET 885 871 985 1,856
75 K ERET 783 934 982 1,916
75 2 [N HET 1,686 1,788 1,920 3,708
A 918 857 958 1,815
$FHET1TH 541 480 506 986
$FHET2T H 400 381 428 809
¥ YHET3T B 193 195 216 411
T 165 207 220 427
HET1 T B 388 475 488 963
HET2 T B 339 346 394 740
HET3 T B 357 377 431 808
HET4 T B 127 118 149 267
J\ & T 999 1,052 1,084 2,136
J\ EHHT 160 192 188 380
+ A ERT 249 274 301 575
T A HT 1,634 1,592 1,810 3,402
THB1TH 26 22 20 42
THRB2TH 1,485 1,311 1,345 2,656
T4HBI3TH 199 175 165 340
THRBI4TH 370 292 363 655
T4RB5TH 926 615 913 1,528
T4HBI6TH 700 714 748 1,462
THBI7TH 345 357 407 764
T4HBISTH 378 400 424 824
THRBOTH 412 441 494 935
THB12TH 240 256 271 527
T+4R13TH 323 369 383 752
o NIEL] 1,958 1,658 1,913 3,571
HARRHET 1,439 1,285 1,167 2,452
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HEZ HH 5 = 5
F AR K/ ET 296 361 386 747
EH AR ERT 172 169 169 338
- WNEL] 132 117 131 248
FH AR hHET 205 221 261 482
FHARAKHET 447 461 493 954
& AR EHT 309 320 356 676
HARE)IIHT 276 254 288 542
=N ] 108 118 129 247
FH AR JTHT 100 99 109 208
EARERHE 688 576 642 1,218
B K BRHET 384 396 395 791
R4 EHT 885 870 1,010 1,880
BEFET1TH 758 728 737 1,465
BEIFRI2TH 588 588 667 1,255
BEFRISTH 350 406 410 816
Al Ffr BT 1 2 1 3
AIFTET1TH 426 380 419 799
AIFFAT2T B 598 597 669 1,266
AIFTET3T B 679 757 829 1,586
A HT 183 194 184 378
H_LH 248 314 333 647
NEL] 793 729 805 1,534
ERL 786 931 936 1,867
= HHT 1,736 1,895 1,953 3,848
HETHRET1TH 585 607 652 1,259
HETIRET2TH 524 598 633 1,231
HLIREISTH 295 373 366 739
P fx T 319 355 383 738
mERI1TH 1,172 1,113 1,259 2,372
mERI2TH 861 944 1,046 1,990
FA T 1,369 1,359 1515 2,874
= RITET 518 481 529 1,010
= AHT 351 288 320 608
AR#4HT 7 5 3 8
) 516 557 495 1,052
SHET1TH 716 618 760 1,378
S HET2TH 405 433 467 900
aHEI3TH 860 729 881 1,610
S HET4TH 780 609 817 1,426
E& T 1 1 0 1
J\BRET1TH 220 247 269 516
J\BRET2T B 223 219 235 454
J\BRET3T H 251 308 317 625
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HEZ HH 5 = 5

1TE R 298 411 397 808
FIEIET1 T B 160 188 194 382
FIEIET2 T B 304 430 459 889
FIEIBISTH 112 179 174 353
FEOER1TH 180 272 267 539
FEOER2TH 0 0 0 0
FENDERITH 19 17 2 19

BEE 89,791 90,454 | 98,158 | 188,612
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